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Reading Section Directions

In this section you will read three passages and answer reading comprehension
questions about each passage. Most questions are worth one point, but the last question
in each set is worth more than one point. The directions indicate how many points you

may receive.

You will have 60 minutes to read all of the passages and answer the questions. Some
passages include a word or phrase that is underlined in blue. Click on the word or

phrase to see a definition or an explanation.

When you want to move on to the next question, click on Next. You can skip questions
and go back to them later as long as there is time remaining. If you want to return to
previous questions, click on Back. You can click on Review at any time and the review
screen will show you which questions you have answered and which you have not.
From this review screen, you may go directly to any question you have already seen in

the reading section.

When you are ready to continue, click on the Dismiss Directions icon.
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Certain adaptations reflect the principle that a large surface area facilitates water
and gas exchange. Mose plants have small leaves, modified leaves (spines), or no
leaves at all, The main food-producing organ is not the leaf but the stem, which is often
green and non-woody. Thick, waxy stems and cuticles, seen in succulents such as cacti
and agaves, also help conserve water. Spines and thorns (modified branches) protect
against predators and also minimize water loss.

1) The word arid in paragraph 1 is closest in meaning to .

A. dry
B. wet
C. humid
D. fertile

fEAT. WEFRERENDT, R “yhEAE ML T R R LR A D
T, FTLAEBI A BT BRI, (Desert plant populations have evolved
sophisticated physiological and behavioral traits that aid survival in arid conditions.)” Bf
DIEHERMA A, BITRHER, WA ETRAE X, BLTXREGEH,
[EVDEIRE T, AATALR “B. {GHY. C. BARNY. D. IBEREY”, FTUAH b T HERR .

9) The word inhibit in paragraph 1 is closest in meaning to

A. aid

B. encourage
C. help

D. impede

AT BOCIRE HERERES CLE7k I (Certain plants protect their
access to water.)”, HEFREMIAE “FHMuEA T &£ —FRERIMHIHEE
L A+, (The creosote bush produces a potent root toxin which inhibits the

growth of competing root systems.)”, UL IEHE %R 4 D. impede, BHMA&], BR
PR E, BHETCA R SCRILE T R AN,

a }5CEE (Referent)

The word they/their/it/its/some in the passage refers to...
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Precipitation supplies the necessary soil water for plants, which take it in at the
roots. All plants have some limiting moisture stress level beyond which they must
become inactive or die. Drought resistant plants have a variety of defenses against
moisture deficiencies, but hydrophytes, which also are adapted to humid environments,
have hardly any defense against a water shortage.

1) The word which in the first paragraph refers to
A. mnumber
B. factors
C. plant
D. distribution

WA BRI TER, BREME, which@B¥ IR, RLAEHE
FNB, HABETGRHEER.

2) The word others in the third paragraph refers to
A. species
B. frost
C. condition
D. plant

AR . HIEMT-4EH, B30 Some species, FTLABLALRZA other species, /8
ERE % WA  species, B4, HTothers hEBOUNR, BB AIRMESC, HETR
D¥AAIE,

3) The word it in the fifth paragraph refers to
A. plants
B. root

C. soil water

D. supplies

AT . SXEREATEY, g /~4)F “Precipitation supplies the necessary
soil water for plants, which take it in at the roots.” twhich#g g &plants, it ji#§ “t

gk” , BILAEBRERAC,
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ﬂ BHEFELY (Facts)

@According to the passage, what/which/why/when...?

.................................................................................

(1) MTARHLLN, mik (S BEILE, HFmBIKER) .
(2) BFARAHEALY), ERMFIOAL, s, L. KB, 4
. BFFR, F5FLR28,

.......................................................................................

Bign. EEIECAT R B, FUHETIRENR, Bl “HEERm” |

Mammals

The history of mammals dates back at least to Triassic time. Development was
retarded, however, until the sudden acceleration of evolutional change that occurred in
the oldest Paleocene. This led in Eocene time to increase in average size, larger mental
capacity, and special adaptations for different modes of life. In the Oligocene Epoch,
there was further improvement, with appearance of some new lines and extinction of
others.

Miocene and Pliocene time was marked by culmination of several groups and
continued approach toward modern characters. The peak of the career of mammals in
variety and average large size was attained in the Miocene.

The adaptation of mammals to almost all possible modes of life parallels that of
the reptiles in Mesozoic time, and except for greater intelligence, the mammals do not
seem to have done much better than corresponding reptilian forms. The bat is doubtless
a better flying animal than the pterosaur, but the dolphin and whale are hardly more
fishlike than the ichthyosaur. Many swift-running mammals of the plains, like the
horse and the antelope, must excel any of the dinosaurs. The tyrannosaur was a more
ponderous and powerful carnivore than any flesh-eating mammal, but the lion or tiger
is probably a more efficient and dangerous beast of prey because of a superior brain.
The significant point to observe is that different branches of the mammals gradually
fitted themselves for all sorts of life, grazing on the plains and able to run swiftly (horse,
deer, bison), living in rivers and swamps (hippopotamus, beaver), dwelling in trees
(sloth, monkey), digging underground (mole, rodent), feeding on flesh in the forest
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(tiger) and on the plain (wolf), swimming in the sea (dolphin, whale, seal), and flying
in the air (bat). Man is able by mechanical means to conquer the physical world and to
adapt himself to almost any set of conditions.

This adaptation produces gradual changes of form and structure. 1t is biologically
characteristic of the youthful, plastic stage of a group. Early in its career, an animal
assemblage seems to possess capacity for change, which, as the unit becomes old and
fixed, disappears. The generalized types of organisms retain longest the ability to
make adjustments when required, and it is from them that new, fecund stocks
take origin—certainly not from any specialized end products. So, in the mammals,
we witness the birth, plastic spread in many directions, increasing specialization, and in
some branches, the extinction, which we have learned from observation of the geologic
record of life is a characteristic of the evolution of life.

1) Why the lion or tiger is probably a more efficient beast of prey?
A. Because they run very fast.
B. Because the intelligence development in the brain.
C. Because they are more powerful.
D

. Because they are more ponderous.

AR, AEE P RARRIS, ERECRE SRR - Sein, fn for
greater intelligence, because of a superior brain, A LA B B L H A R IE B RN
B, BT AMAKS, WTMERmAEERS.

9) According to the passage, which type of animals can make better
adjustment?
A. The rare animals can adjust well.
B. The more unique types of animals adjust well.
C. The more common types of animals adapt well.
L D. Animals in the preserve can adjust well.

ﬂﬁ:ﬁﬁﬁi*iﬁ,%ﬁﬂﬁﬁwﬁﬁﬁﬁﬁﬂ,W“ﬂwgmmmw
types of organisms retain longest the ability to make adjustments when required.”

AARERI R R B R, FILUERERMC.
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a HEMEE (Inference)

@Which of the following can be inferred from...

.................................................................................

(1) BRR AinferX imply, L Kst—ZR2 B L PRAARAH AL,

(2) #Kik (Elimination) : RX ARARMBEM AL, THR; 5B
REXGFAE, LTHE,

(3) A YA THNE,

.......................................................................................

Biltn: WEEBRLAT R B, FUABI5EEE, 52l W .

Endangered Species

All along the chain of biological evolution, the extinction of species appears to
have been a stage in the process of adapting genetic lineages to changing environmental
conditions. Although some catastrophic extinction occurred naturally, producing total
loss of a genetic line, such catastrophes were comparatively rare. In modern times,
however, human activities have altered the fundamental nature of this process, resulting
in nearly total genetic losses.

It is difficult to gain general agreement that man-induced increases in the
endangerment and extinction of wildlife—whether due to habitat alteration or loss,
pollution, insufficiently regulated hunting, or other factors—are undesirable. It
is, however, more difficult to obtain consensus when consideration is given to the
economic costs of correcting such trends, including natural habitat preservation,
regulation of pesticides and other toxic substances, and wildlife and park management.
Endangered species often are, in effect, competitors with humans for habitat and other
resources which also provide other kinds of human uses and needs.

Measures needed to protect endangered species vary considerably in difficulty
and cost. Of the approximately 400 invertebrate species which at present appear
to be threatened, for example, about one-third could probably be restored by such
inexpensive means as modifying the boundaries of designated natural areas, acquiring
and protecting caves and other small areas which contain the particular species, and
additional management of parks and refuges.
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Another one-third of the endangered lower animal species are threatened
principally by water pollution and could be protected by improved control, particularly
of five southern rivers. The remaining one-third of the 400 endangered shellfish species
would be considerably more difficult to protect. These are threatened by complex
factors, such as the Asian snail, dredging, quarry washing, poor erosion control, and
lowering of water tables.

The identification of threatened species and other significant wildlife trends
must precede any corrective measures, and our knowledge base for making such
identification is deficient in many respects. Our present lists of threatened species
and subspecies are known to be incomplete, except in those geographical areas which

contain habitats of species that have important commercial or sports harvest value.

q) Which of the following can be inferred from the first two paragraphs? w

A. Some catastrophic extinction occurred naturally.

B. Catastrophic extinction can cause a complete loss of an animal type.

C. It is generally agreed that human activities have changed wildlife’s
genes.

D. Endangered species often are competitors with humans for habitat

_/

AR JE S R N AT A TRAEPERT I [ AR TR MR R AL AID. Bl
R B S 5 NS M REIR, SO RBHERR . B RC. ARA
KIEH WL E N, & 5ECTROFNE, MR, FLERERN
B, HIGcHEPE R4 vl REMI S — s BEEL

L and other resources.

q) Which of the following can be inferred from the third to the fifth paragraph?

A. There are around 400 invertebrate species at present appear to be
threatened.

B. One-third of the 400 endangered shellfish species are threatened by
complex factors.

C. Our knowledge on harvesting crops is deficient.

L D. There are some low-cost methods to protect endangered species.

SRAT . i HLRSCR R N 2 A 400 R AR TCHHE S 2 BB A



